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Because of the SSS congruence postulte,
AABC= AA'B'C’ The translation is an isometry.
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Exercises for the lesson “Translate Figures
and Use Vectors”

Skill Practice

1.

2

A vector is a quantity that has both direction and
magitude.

A vector i a quantity that has both magnitude and
direction. On a coordinate plane i is represented by an
arrow from one point o another.Is symbol is —. A ray
consists of an nital point and al the points on the i
extending in one directon. s symbol is —.
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‘Because of the SSS congruence postulae,
AABC = AA'B'C’. The translation is an isometry.
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12. To go from A 10 4', move 3 units right and 1 unit up.
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